The ACS0600 Cage can be installed either

base for wall hung equipment such as solar
600 high or 600 wide.

vertically with two end panels and the
invertors.

mounting brackets fixed to the wall.
This provides protection on all sides and the

ACS Protection Cages are usually installed

* ACS0600
* ACS1200

/oonkkw

Assembly Instructions
« Be careful not to cross thread fixings.
- Tighten all bolts when fully assembled.

PARTS INCLUDED
(@ CORNER PANELS (2)
@ FIXINGS — M6x12 (8) M6X30 (20)

@ SIDE PANELS (2)
@® BRACKETS

@ END PANELS (2)

Attach the BRACKETS (D) to the
with M6x12 bolts.

SIDE PANELS (B

)

®

BN
XA
W

7 N

Optional holes allow the cage to be

mounted to a wall or 25mm/50mm

clearance for pipes & conduits.

LN LLRRLRRRARRRRRRRL
T T R TR R R Y
A TR T TN

B) to the

(

Attach the SIDE PANELS

two END PANELS (A) using M6x30

bolts.

@

Attach one CORNER PANEL (C) to the
END PANELS (A) using M6x30 bolts.

D ®

Position the protection cage and check

the cage is level,
vertically.

llﬂm\-i.

\, ‘0000000

N Y/

700009999

=l
VAAAY-
0
O
N
0
R0
4}..0’&

90004
9999999

both horizontally and

@®

Fix the cage by using suitable anchors
(not supplied) through the BRACKETS.

®

Add the remaining CORNER PANEL.
Tighten all fixings to then complete the

installation.

®

iiiiiiiiiiiiiiiiiiiiii
iiiiiiiiiiiiiiiiiiiiii
iiiiiiiiiiiiiiiiiiiii
iiiiiiiiiiiiiiiiiiiiii
iiiiiiiiiiiiiiiiiiiiii
iiiiiiiiiiiiiiiiiiiiii
iiiiiiiiiiiiiiiiiiiiii

4444444444444444 ARN

2
&)

A
AN
AVANTAGE

Avantage Australia

Phone +61 3 9989 5850

74 Scanlon Drive, Epping, VIC 3074, Australia.

>
©
=
[}
©
8
=
=
7]
>
©
(3]
(o]
©
o
c
©
>
<
2
3
2
>
T
=
o
Q
o
©
=
7]
>
©
()
(o))
]
=
c
©
>
®
7]
R}
@©
»n




